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979 pm
Selling. ution ov @12% of works cost
Opening stock of paper Rs. 80 per tonne sold
C]ﬂsmg stock of paper 500 tonnes valued @ Rs. 2,501.60 per ton
300 tonnes valued at cost of production

“The paper is sold @ Rs. 3,000 per tonne.

OR
Q.3 Following data pertains to Warwick Ltd. (15)
Material | Standard Quantity | Standard Rate (Rs.) | Actual Quantity | Actual Rate (Rs.)
s
P 40 50 S0 45
Q 60 40 60, 55
Calculate Material Variances.

Q.4. From the following information calculate: (15)

a) P/Vratio.  b) Break even point (units) ¢) Mar@ d) Profit e) Sales to

carn a profit of Rs. 6,000.
Fixed Cost Rs. 4,500

Vanable Cost Rs. 7,500 O

Sales Rs. 15;

Units sold sa
OR

Q.4. Prepare a reconciliation'statement from the following data: (15)
Rs.

Net loss as per cost accounts ' 34,480
Net loss as per financial accounts 43,209
Works overheads under-recovered in cost accounts 624
Depreciation overcharged in cost accounts 260

stration overheads recovered in excess 340
Immton investments 1,750
@mdwmwrlmemnﬁnamalmn | 1,140
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